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Problem A. Polygon Triangles
Input file: standard input

Output file: standard output

Time limit: 3 seconds
Memory limit: 512 megabytes

A polygon is a plane figure that is bounded by a finite amount of straight line segments closing in a loop
to form a closed polygonal chain. The segments are called its edges, and the points where two edges meet
are the polygon’s vertices.

A triangle is the most basic of all polygons as it has only 3 segments and 3 vertices, anything with less
than 3 vertices or segments would be just a line or a point, which are not considered as proper polygons.
Triangles have in general many interesting properties, one of them is the called the triangle inequality,
which states that the length of any edge of the triangle is strictly less than the sum of the lenghts of the
other edges. Formally if we have 3 segments of length a, b and c we can construct a triangle if and only
if a < b + c, b < a + c and c < a + b. This is important, as it gives a necessary and suficient condition
to construct a valid, non degenerate triangle from segments, as an example of this, take two segments
of length 6 and one of length 10, we can easily make a triangle using these segments because they hold
triangle inequality.

On the other hand if we take segments of lengths 4, 5 and 10 it is not possible to construct a valid triangle.

Two more important properties about both triangles and polygons is that any polygon can be divided in
simple triangles (possibly infinite) and that any set of valid non-degenerate triangles can make together
a polygon, this second statement can be shown by induction, the base case is a set consisting of only
one valid non-degenerate triangle, which is already a polygon, now for the induction hypothesis, if we
have a set of n valid triangles, we could make a polygon with n − 1 of these triangles, then we take the
remaining triangle and we just join it to one of the external sides of the polygon we already have and then
we get a new valid polygon, all made with valid non-degenerate triangles. The figure shows an example
of a possible polygon made by a set of seven triangles.
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Right now the University of Native Artistic Lines (UNAL) is working on an art project where is essential
to construct a polygon made of triangles of different colors, that’s why they have got many diferent triplets
of sticks, where each triplet has a particular different color, now they want to know if it is possible or not
to construct a polygon made out of triangles using the procedure described above using all the sticks, but
as they have every triplet of a different color, they want to make, if possible, each triangle of a different
color, but, it must be just one color for triangle.

Input
The first line contains a number n (1 ≤ n ≤ 105) - the number of colored triplets

Then n lines follow. ith line contains contains each three integers a, b, c (1 ≤ a, b, c ≤ 109) - the length of
sticks with the ith color

Output
On a single line, print ”YES” (without quotes) if it is possible to construct the polygon with all the
restrictions, and ”NO” (without quotes) otherwise.

Examples
standard input standard output

1

6 6 10

YES

2

10 2 2

2 10 10

NO

2

2 2 2

10 10 10

YES
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